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WA 26,280] 10kg 972 783 594 dtimE b
FEIZA LA 15,590 10kg 1,944 || 1,653 || 1,296 || dtiBE b
H% 35,695 15kg 2,160 —| 1,377 | 594 || K% 1t
FrRY 45,670 10kg 1,156 | 848 | 540 - HE f#b
EFS5NAZED 3,492 3.6kg 3,672 || 2,592 || 2,376 1| K& JtEE i
FhE 1,919 5kg 2,700 —| 1,620 — 540 -1 FI
59 11, 855 5kg 2,592 - 1,890 —| 1,188 —] uE =& 4t
k< k 6, 900 dkg 2,160 = 1,620 || 1,188 —| k& dJtiEE b
EpoY 26, 796 5kg 2,808 T| 2,214 1| 1,620 -] diEE w5 b
BAEA 6,514 10kg 3,888 || 2,375 || 1,177 7| dimE 4t
E—<> 3,415 150g 81 | 31 65 =] X%# b
WAITA 244 2kg 3,780 I 3,147 || 1,620 || dimE REH
AR 1,473] 200g 173 — 108 | 43 || s HE
MAL & 9,250 5kg 1,944 |1 1,728 1| 1,512 1| &8
Fhul & 14,180] 10kg 3,618 T 2,457 1| 1,296 || dimE FHFH b
EL g 5,130 10kg 3,996 || 3,402 || 2,808 7| dimE fth
f-FEh&E 51,7801 20kg 3, 564 3,186 2, 808 dtisE EE ith
La R 15,895 10kg 1,620 1| 1,188 | 756 || K% fth
£ LW 2,497 200g 194 — 151 | 108 || 8 EE
AAL—ka—v 6,740] 10kg 3,310 —| 2,722 1| 2,074 1| % HE it
[ 8 % ]

IND RBD A 7,257 15kg 16, 200 15,120 14,040 &g i
AL 1,800] 10kg 8,100 —| 8,100 —| 8,100 —| &HH#
FEK 25,5001 10kg 7,020 || 5778 || 4,53 || &M@ E& i
TI9LIT 2,987 3kg 4,104 —| 3,132 —| 2,160 —| L& LUz b
Elg 3,929 5kg 7,560 5,940 4,320 (ITE-C
Hd 35, 591 5kg 4,860 —| 2,700 | 540 || K% 1t
T3 2,376] 500g 432 — 421 1 410 1] K% #b
eV 51,289 13kg 5,400 —[ 3,780 —| 2,160 —| Uz fth
BEAQY 1,947 8kg 4,320 || 3,456 || 2,592 —| ZEH& #E
FAAQY 996 8kg 4, 860 4, 860 4,860 5% tBE #b
GE) 1. ZORIE. FHRIABODRAELFDLEDNDTT,

2. miRE My T&ERE1 TRE] THBRE] 1B OSERETY,

L. F52FDEWNMEEIE TEFbFEL] ELTLET,
3. EHRDEDERMNIE. FIADBHROME L LB L-EEEEZRLTVET, ==L, BIAICERE]

AEMot=h, BB EEUNRBIEEEIERMELTVES,
4. THA RU TEEME (SiE. FiE. RE) | &, TERSIOGE (€Y (AL RSl 83t
5l B=FHRET] IXTOHT. REHEORLEVHLDERTLTLET,




